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ECONOMICS
( Honours )

Paper : ECO-HC-3016
( Intermediate Microeconomics—I )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions (any ten) :
1x10=10

e AAERS Sed o (R e webt) -
{a) What is ordinal utility?
TS opfaret & 9

(b) State the law of equimarginal utility.

SefeR Socfarer Rido Seas <= |

(c) Define indifference map.
e @R Tmivas e fm |
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(@)

(e)

(9)

(h)

1)

0)

(k)

A23/178

(2)

What is the marginal rate of substitution
between two perfectly complementary
goods?

w1 A fReTF AR cFae AT AfdeEd =@
(LGN

What is substitution effect?

AfSes Re &2

Mention the ‘Giffen paradox’.
o SN’ Co1 Srad 30 |

What is meant by production?

T T & 3@ 2

Give one example of implicit cost.

PP IR 61 TR |

What is meant by a person be risk lover?

& & =I5 TRF WA & @ 2

Why is the long-run average cost curve
U-shaped?

T 516 IR @ U-Sgfeq 5y 252

What is iso-cost line?

AR @41 F 2

( Continued )
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(3)

() How do you calculate the marginal rate of
technical substitution?

afee affese afeFsd R o A s
FhRA12

(m) Draw an isoquant curve for perfect
complements of factors.

A AR A GO T-Beei @ o
el

(n) Mention one important reason for
decreasing returns to scale.
FRPHEF TRAT TR 981 @F9e)d IR Seay
A1

(o) Define variable factors.

AR e SeAmee St fray |

(p) What are iso-utility curves?
-Befcafiel @XPE & 2

(@ Why is average revenue curve of a firm
under perfect competition horizontal?

o afcPenET @/ @b BR T
&1 fFn wrefie =0

() Why are selling costs not incurred in
perfect competition?

14%%@%%@@@@?@?
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(4 } (5)

2. Write short answers of the following questions (f/ Show that average cost 1is the
(any five) : 2x5=10 combination of average fixed cost and
CEE R RICIER] WWW ® @ ’ﬁF‘G‘I) . - average variable cost.

ki (RS @ T IW TA TS BRI O e
(a) linea;t is meant by the slope of an iso-cost AfraSRe IER QI |
R @4 GO Ble WG a2 (g9 What is strong ordering?
e @ 2
(b) Distinguish betw:
san deg;an d cen gross demand and (h) Distinguish between risk-averter and
" i risk-neutral individuals.
DIEGACIERS Mo
" DR e el fef 1 | c-sfge We kel-fRers e e
© © of12f<5 fefa a1 |
an we apply the law of diminishing
marginal utility to money? Give reason. (i) State the two conditions for equilibrium
TR A% Sorafrer R R of firm under perfect competition.
CRIS S F7 *f1zqce 2 s fiy | o efefees e AfSPrR SRTER 76
o1 S 341 |
(d) State S ) . y
4 utsky’s equation. () What is a marginal firm?
AR TR o o 1 o1 ofob 2
(e) If B=x. )
Sk = Pty Py, where B represents 3. Answer the following questions (any foun :
y Prices
respectively, fing ﬂ:f goods x and Y O RIERE St fran (R e wifHen)
equation. siope, ol #ie ,
B (a) B'nf-‘.ﬂy explain the principle of
=X-Py t+y. P, 3, gs g 3'% Bogere diminishing marginal rate of
¥, P, S P, ¥F @y S e substitution. What role does it play in
‘ﬁﬂﬁ‘@ﬁ Ul Tferagy | Y } shaping indifference curves? 3+2=5
A23/178 A23/178 ( Turn Over )
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(b)

(6)

FEPAF e afees 2R R v
01 PR @ oo far orge 3 R oo
A FA Y -

What

normal goods.

is income-consumption curve?
Derive income-consumption curve for

1+4=5

UE-BEe @ R0 weRe AR wm-
TSI (RYOT S=E 41 |

(c) Explain the revealed preference
hypothesis. 5
TN R AT 00 47 |
(d) Fill in the blanks in the table below -
1+1+142=5
S SRR A O [ 31
Output | Total Total Total A A
Sesmy | cost (T) fixed variable ,,vﬁir:g 5 vzeﬁ;c;)%z
ij cost (¥) cost (¥) cost (¥) cost (¥)
TEA) | PRI | PR | as R | 0w eficdie
FE) | wmE) | W) | w G
0 50 — = = —
1 70 = — = o,
2 100 = A = =
3 120 = = -
4 135 - — _ =
5 150 — _— sl =
6 160 = = A =
7 165 — o yom =
A23/178

( Continued )

(7)

(e} Examine the following data on outputs
and inputs. What type of returns to
scale does it represent and why? Give

arguments :

2+3=5

e Al e WF WA SIPER AR
| @R Semm TR 3 afofifdy IR

w1 o 2 gfe fin
Capital (§7%) (K) | Labour (7¥) (L)| Output (S&%T7) (Q)
5 8 3
10 16 6
20 32 12
40 64 24
(/ What is expansion path? Derive

expansion path with the help of diagram.

1+4=5

TRHRT 4L 2 e TS e Ay SR

BRIl

(g) Derive average fixed cost curve from total
fixed cost curve.

P R @E o e B oy @9 R

911

(h) Can a firm under perfect competition
operate in the short-run when it is
making losses? If so,
condition with the help of diagram. 1+4=5

A23/178

explain the
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(8)

o afsafrenes @ sxEe 9@ afovE
ORI 'S Beofwa IR veiz A1
AT ? A A, o ARRRD Bem svams
T 40|

4. Answer the following questions (any foun :

10x4=40

T ST S ol (R T i)

(a)

With _the help of indifference curve
analysis, derive individual and market
demand curve. 6+4=10

fReers @41 Rem 2me s ot @ap s
JEE BIfRAT @21 SER 4 |

(d) State and

(e)

(9]

prove Samuelson’s
fundamental theorem of demand.
Mention any two limitations of the
theorem. 8+2=10

IEed (fEe bikA ©gl Sy T R
7 3] | ©GOR R @I 101 SRmel Sas
sl

What are the assumptions of N-M utility
function? How can N-M utility index be
constructed to explain the choices by an
individual under risky and uncertain
situations? Explain. 2+8=10

N-M Tofaiferer Fmq SfsqRapT & 2 =fe-
] I Sfervrel ARESe AT omm rm
A N-M APl 5pF @Femmed oo IR

(b) EExpléu'n Slutsky substitution effect for a
rise in price and for a fall in price. #1fR 2 27101 3#41
5+5=10
I e
Ti[ T4 2P CRES WG dfess e () State the law of diminishing returns.
I Why do diminishing returns to a variable
input occur eventually? Can they become
(c) WhE.it is meant by inter-temporal negative? If so, why? 4+3+2+1=10
z:ome? E).cplain inter-temporal choice of FEPEE Sedm R Sy s 9w
nsu
Waﬁq:;tm;r . FliS=10 ARTETN TANR (RO G SeeT
d 1A TE? @R ?
TS et 1 mfﬁ@.iﬁmﬁeﬂm?vﬁ
2 ]
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( 10 ) ( 11 )

(g9 What are increasing returns to scale? (i) Distinguish between market prit?e @d
Show them on an isoquant map. Explain normal price. Explain the determination
- the causes of increasing returns to scale. of market price in the very short period
1+5+4=10 under perfect competition. 4+6=10
P A T R 2 -Seofr T qE @ F FOIS W TS AN Pl 741
WWW'WW%QWWWW o3 ASAPCHETE THFS SO ZFFCTS W 7
RS S Il fefrae i < <4 |

(h) Deﬁn-e marginal cost. How is it related to L
marginal product of g factor? ;

rises.
would you explain it? W 1i{§$=10
AT TR gy B SR o

() What is meant b
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